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TS () A Teaa/Section (A) General Studies

1 e ERr wRe ST 3 o o o el el SRR Y ?
(A) Titeht @i (1816)
@) wifr s (1950 24
(C) e eTETT T Gl (2014)
(D) wmmmaﬁmols) _
Which treaty forms ¢he bedrock of the special and enduring relationship between India and Nepal ?

(A) Treaty of Sugauh (1816)
- (B) Treaty of Peace~and Friendship (1950)
(C) BBIN Cooperafron Agreement (2014)
(D) Indo-Nepal Jomt Comm1ss1on Treaty (2015)

tfé

2. maﬁmaﬁrwwm ORI ShT T foha Rt 2

(A) Frmeaa (B) i@ (C) Fiereme (D) ST
Who composed the ‘Prayaga Prasasti’ that praised the achievements of Samudragupta ?
(A) Vishakhadatta (B) Harishena (C) Kalidasa (D) Banabhatta

3. naw:ia%aaﬁﬁ@%@ﬁﬁ@raﬁ? A FF TR ?

() TR e B < o st e R b i g R st e 1

(B) SR Sharel T4 %ﬁmw%m goehT forar et R |

©) wﬁ@awﬁ@mﬁﬁﬁaﬁﬁwg@%nﬁﬁ?m%l £
(D) éaﬁaaﬁ%%ﬁmw%ﬁrﬁqmaﬁam%ﬁﬁﬁaﬁﬁl =
Which of the following statements about Mahapadma Nanda is correct ?

(A) He founded the Nanda dynasty and issued coins reflecting his economic strength.
(B) He ruled only the region of Magadha without expanding it.

(C) Greek sources describe his army as small and militarily insignificant.
(D) Hewas a great patron of Buddhism and sent monks to distant regions.

4, QTS T ST S o w9 A Msﬁﬁwﬁﬁm%mﬁﬁquﬁmfﬁ@w oqr?

(A) @#Wwﬁwrﬁ
(B) sraier oy R,
(C) IS o |TeT TR EeEn fhy
D) @Wﬁﬁ@ﬂfﬁwﬁﬁw%m
t‘- =
¥ )
What was one of the significant actions taken by Pusyamitra Sunga to assert his power as a ruler ?
(A) Introduced a new coinage system
(B) Performed the ashvamedha yajfia
(C) Signed a treaty with Chandragupta
(D) Built a large Buddhist monastery

03-FA-25/1 . (4-A)



5. ﬁ@@g%mwﬁwm@aﬁﬁaﬁ%%ﬁwﬁmﬁaﬁn‘él%wﬁwﬁﬂﬂ%ﬁﬁmﬁaﬁqw?
(A) T, TSR, T, FHTETQ S STer

()
(B) U, §R, T, Wﬁﬂﬂ?ﬂ"r 8 ]
(C) W, FSTHL, T, mﬂwaﬁtévmw " o
D) WW&%&TW Waﬂtawn W

The 7th Khelo India Youth Games (KTYG) were hosted for the first time in Bﬂ]lar In which cities were they
mostly conducted ?

(A) Patna, Rajgir, Gaya, Bhagalpur and Begusarai

(B) Patna, Munger, Gaya, Bhagalpur and Madhubani

(C) Patna, Muzaffarpur, Gaya, Bhagalpur and Begusarai

(D) Patna, Purmea, Gaya, Bhagalpur and Darbhanga

6. foer siarmerer 3 e SFARER (BFT) qﬁaﬁam@ﬁaﬁt%ﬁﬁw%w%ﬂa@ﬁﬂﬁ oft 2
(A) FTeitor forehrer Ty, T garell A e A Ry 9

2
(B) U= TST AT, T IO STRTSehdT ShT SI@Tal &7 :g
(C) amsfior ferehrer wiamerar; HReTT shrel W o for Rfdrer goftforaftr snterer & warfqeenfia sReat s wiiveror 3
(D) et foehm darerr; el Sfeete T e "3

Which ministry launched the Barefoot Technician (BFT) Project and for what purpose was it initiated ?
(A) Ministry of Rural Development; training local youth in computer skills

(B) Ministry of Panchayati Raj; promoting local governdnce awareness

(C) Ministry of Rural Development; training selected local individuals in civil engineering skills for

MGNREGA work measurement 5
(D) Ministry of Urban Development; urban infrastructure planning ®
&
7. forR AT TR wrerd S € 2 i};
(A) TR, epa ofit g B) &, afreht i iggd
(©) f&drafivsg, (D) & st sidsht w
Which are the official languages of Bihar ?
(A) Hindi, Sanskrit and Urdu (B) Hindi, Maithili and Bhojpuri
(C) Hindi and Urdu (D) Hindi and English

8. 2014 ¥ I forere Tk fomer et ¥ derarffer S e ey 9

(A) Tt foemme gl (B) fora sTmNT

(C) ifer sTmmT (D) FSTT STRINT

Which institution prepared the Five-Year Plans until its dissolution in 2014 ?
(A) National Development Council (B) Finance Commission
(C) NITI Aayog (D) Planning Commission

03-FA-25/1 (5—A)
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9. fawsr 2004 F - wm@wﬁwwwfww%ﬁmww ?
(A) ﬁrﬁﬁnﬂmﬁ (\) (B) T A
(C) WHR AR, D) Wg 2.
Which sportspersonggecame the youngest-ever World Chess Champion in December 2024 7
(A) Vidit Gujrathizg, (B) Arjun Erigaisi .E
(C) PraggnanandhdajR. (D) Gukesh D.
&5
10. 2025 aﬁq;’rﬁﬁ,ﬁwﬁaﬁmw#ﬁ 21 Fordie 1 a1 ShHT FRIGh fohert 7T 2
(A) T 38T (B) $¥IH feher
(C) AewE TRl (D) TSI T
In the 2025 Duleep Trophy, which Bihar-born player was appointed captain of the East Zone cricket
squad ? =
(A) Abhimanyu Edsjvaran (B) Ishan Kishan
(C) Mohammed SKami (D) Shahbaz Nadeem
E=
ey
11. 33T 2025 ﬁmmaﬁw%aﬁwﬁ Wy 3T e 311 a1 ol wETet ST o U] S HYwh §9
o T o 2 |
(A) e (B) TH TS ST
(C) TS fehrreH (D) SITUM
The 4th edition of Exercise Tiger Triumph in April 2025 involved India and which other country’s armed
forces operating join{ly for the first time ?
(A) Australia f,?i: (B) United States of America
(C) United ngdo,m (D) Japan
‘H?
12. 7 W, 2025 aﬁz4iﬁeﬁﬁamﬁawrﬁwﬁ@mw%a TR v, foRer Tl Sl 51T
SIS GRERIRIDIR I
(A) Fora e
(B) wietwr Fafercar s1gee™ uRws (ICMR) o
(C) TE HAEH =
(D) & a:@wﬁqs‘r%mqw (DRDO)
Operation Abhyaas, the nationwide civil defence mock drill held on 7 May, 2025 across 244 districts, was
organised by which Indian body ?
(A) Ministry of Finance
(B) Indian Council of Medical Research (ICMR)
(C) Ministry of Home Affairs
(D) Defence Research and Development Organisation (DRDO)
03-FA-25/1 (6—A)




13.

%ﬁﬁwﬁﬁwmm%l

(A) T PR T a° (8) St varea e 25
() SR R () (D) icisl HERETH F0T

is the legislative adminis,gc;rétive capital of Sri Lanka.

(A) Galle Thirangama Pura ;‘;& (B) Kandy Udarata Rajadhaniya

(C) Sri Jayawardenepura Kotte 1 (D) Colombo Maharagama Purana

@

14. SHieH — G20 3T (i A) 3R ST RIS (i B) 1 et hifeg -

15.

FHiH A HIH B
(&) &)
o SRR P
b, W i, I fi
c. afgrr STk i wfRE
d. afeEsr iv. & ft
Rrepea : ‘a
(A) a-ii, b-iii, c-iv, d-i i (B) a-iii, b-ii, c-iv, d-i
(C) a-i, b-iii, c-ii, d-iv : (D) a-iii, b~ii, c-i, d-iv
Match the Columns — G20 Countries (Column A) and their Currencies (Column B):
Column A Column B
(Country) (Curzency)
a. Indonesia i Pesgg -
b. China fi. Yudol - &
c. South Africa il Rupiéh
d. Mexico iv. Rand]
Options : i
(A) a-ii, b-iii, c-iv, d-i - (B) a-iii, b-ii, c-iv, d-i
(©) a-i, biii, c-ii, d-iv (D) a-iii, b-ii, c-i, d-iv

ot 3 S T S-S T S — S ST T e, e i e S 3 e i e

89
(A) TR . (B) afdor ahish
(©) Heteis (D) sehferr

Which country has three distinct capitals — serving as the Executive, Legislative and Judicial centres of
government, respectively ?

(A) Malaysia (B) South Africa

(C) Netherlands ‘ (D) Bolivia

03-FA-25/1 (7-A)



)

16.

17.

18.

19.

wﬁm%ﬁﬁwnﬁwmﬂﬂaﬁzmmw%%ﬁ 2024 T TR HER SR R o ST
w0 3 T T TRYETOT SS T ST TR AT 7 3 ,

(A) TG (r (B) AR

(C) SHmfET 5, ©) fr _
What is the name of the female humanoid robot deygloped by ISRO that was sent on an uncrewed test flight
in 2024 as a precursor to the Gaganyaan manned space mission ? -

(A) Gagan-Sakhi & (B) Nabha-Nari g

(C) Vyommitra (D) Mitra
%ww&qaﬁw@%mﬁ%aﬁﬁﬁqﬁﬁ@ﬂﬁﬁ@?—ww@% ?

(A) m@-ﬁzﬁmﬁ@aﬁﬁmﬁgﬁﬁﬁ% l

B) oft TEwt o T g Y WE U T e |

(C) wmwwvﬁaﬁ%aﬁm%mﬁﬁw% 1

(D) ferer aftwe g e o & SR E | Q

Which of the following statements is correct about tHe tenure of members in the Legislative Council ?

(A) One-third of its members retire every second _,éar.

(B) All members complete their term after ten years;

(C) All members are elected to serve a term of ﬁv;egyears.

(D) The Legislative Council gets dissolved every five years.

AT T AR S 2013 %W,ﬁmﬁf@ﬁﬁﬁ@?@mﬁ%w%@wﬁww ,
TR ? | ' |
(A) T S ST

(B) T % q&d =Aefien
(C) e ferer 3 et » By
(D) W 3 et al e
Under the Lokpal and Lokayuktas Act 2013, which one of the following is not a part of the Selection
Committee for the selection of the Lokpal ? F

(A) Vice President of India

(B) Chief Justice of India i
(C) Leader of the Opposition in the Lok Sabha

(D) Prime Minister of India

Yo

o)

mﬁﬁaﬁﬁm?ﬁwsﬁagugﬁ%wﬁmﬁi@aﬁ@ﬁwg%ﬁmzmaﬁrwﬁﬁwﬁwﬁﬁﬁﬁ
iR T § 2

(A) TR IARIV (B) THISRD

(C) T ISR I (D) T M AR IV

As per the Seventh Schedule of the Constitution of India, which of the following lists define State and
Concurrent legislative powers respectively ?

(A) Lists I and IV (B) Lists Iand II
(C) Lists Mand I (D) Lists Il and TV

03-FA-25/1 (8-A)



20, Fretforfee & R T o SRR 3, o e e siarta cli & st e e B R gu et

21.

22,

23.

ST ST e Susr i 3 =Ry 2 .
(A) Rifrpm (B) wea gax
(©) fmr (D) SRS JaT0

Which of the following states has a campaign, ‘Pyar Ka Paudha (Plant of Love)’ asking people to gift live
plant saplings instead of cut flowers ?

(A) Sikkim (B) Madhya Pradesh O
(C) Bihar (D) Arunachal Pradesh’*" N
J

U
IS TT ERT W oh Tfrer it srsararr o5 fafr o sromms s oft 2 f;
(A) 30 S, 1950 .(B) 26 SHERY, 1950 \1
(C) 26 ToK, 1949 (D) 15 3TT&, 1947 &7
On which date was the Preamble to the Constitution of India adopted by the Constituent Assembly ?
(A) January 30, 1950 : (B) January 26, 1950
(C) November 26, 1949 (D) August 15, 1947

qﬁﬁqm%maﬁ%m R Tehet ER FY T 3 T ek f3rm <67 ey S S 8, A e o &

WT%FHTC@?TEF[W)%HTWV )
(A) STFTE T 10% (B) TR 40% ]
(C) T T 30% (D) T T 20% f’f

Under Component-B of PM-KUSUM what is the share that a farmer is requ1red to initially pay (own
contribution), if bank finance is availed for a stand-alone solar agriculture pump ?

(A) 10% of the cost - (B) 40% of the cost : o
(C) 30% of the cost (D) 20% of the cost ﬁ

FefiRen T A H- wwmw%mﬁmmﬁ%@wﬁ@mﬁm%?
(A) g UTHiOT UG Bt JT 5 ST 100% HISTeT SeT T

. £3

(B) @l T st S5 R Tt USRI Doty skt (”’)
(Cy ssfifernr et & g 2096 Wlseer o stfirr ot sy R e /)
(D) R % T TR et TI-ISHT 218 ] T T

Which of the following correctly states the aim of Project UNNATI under the Ministry of Rural
Development ? '

(A) To skill 100% of all rural households under MGNREGA

(B) To provide urban job placements for all MGNREGA workers _
(C) To train 20% of active MGNREGA workers’ households for livelihood promotion
(D) To replace MGNREGA with self-employment schemes only

03-FA-25/1 (9-A)




24.

25.

26.

217.

28.

ET R e S gy o i femam TR AT 2

(A) 1950 ‘

(B) 1956 g%%
(C) 1951 if '
(D) 1952

Tn which year was the First Constitutional Amendment Act passed ?

(A) 1950

(B) 1956
(C) 1951

(D) 1952

e Uk L Ik Aic L ILE k!
(A) 3. T (B) .3
(C) Teht (D) ¥ e
Who is the author of “After Twenty Years” ?

(A) O. Henry . (B) J. Henry
(C) Seki (D) Hector Prichard

~ )&
W O;"Ua

/\ ‘e

:z%:
s
(

ﬁn%@ﬁﬁﬁﬁqmwmaﬁ%fﬁaﬁw 14 TR 35 T e Tt S g of e g fom e it
[CRIRRIDIN - :
(A) STET; 2004 ®) faeh; 1967 %ﬁ

(C) whisrull; 1992 (D) Tl 1992

Which of the followmg languages Was the first to be added after the original 14 languages of the Eighth
Schedule and in which year was it ifiGluded ?

(A) Bodo; 2004 ‘ (B) Sindhi; 1967

(C) Konkani; 1992 : (D) Nepali; 1992

o
—d et

DHEROC

T e i ot Tt i 22 WSS AT AT E T A ST S A T T R 2
(A) Al (B) gt (C) ARl | D) S
India currently recognizes 22 1anguages in the Eighth Schedule. Which of these languages is rot one of

them ? . o .
(A) Bhojpuri B) Santl;ah - (C) Maithili (D) Dogri

WW%mmﬁﬁmﬁﬂ%ﬁwmmﬁmﬁaﬁﬁ%ﬁW%?

(A) U@ (CIRUS) m ®) 7=

(C) TR | (D) e (ADITYA)

Which of the following is the name of a tokamak reactor developed in India for plasma research ?
(A) CIRUS (B) Dhruva

(C) Tarapur (D) ADITYA

03-FA-25/1 | (10-A)



29. T ok iy oo Rt & vafarer 3 TRaoT quT Fere o e forer STgees o Sfarid IieT § 2
(A) TS 39A " (B) 3TRE 48A
(C) 3T 43A (D) 3TT=4 51A
Under which Article do the Directive Principles of State Policy include a duty to pratect and improve the

environment ?
(A) Article 39A ®B) Art%cle 48A
(C) Article 43A (D) Article 51A

C)%

14

i:[a]

i

[l

3O

30. SRR (4) : Tl e forduss w due o ST SR ST STeT-STenT Ui foRar ST =R |
R (R) : mﬁwwmmwﬁaﬁwﬁ%mﬁmﬁmmw
BIERICES

B

(A) TR (A) TE 3, T T (R) TTerel 2 |
(B) AR (A) T 8, T HIT (R) T 2 |
(C) HRrRerT (A) FR FHIT (R) T TR &, T HROT (R), SRR (A) T e T e € |

(D) 3THrherT (A) R HIT (R) ST 6t § 3BT (R), AR (A) Y Tt AT T € |

Assertion (4) : A Constitutional Amendment Bill must be passed by both Houses of@arhament separately.
Reason (R) : The Constitution provides for a joint sitting of both Houses to resdffe a deadlock over a
Constitutional Amendment Bill.

Options : , : (e

(A) Assertion (A) is true, but Reason (R) is false. '
(B) Assertion (A) is false, but Reason (R) is true. ’

(C) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the correct explanatlon of the

50% .

Assertion (A).
(D) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of the
Assertion (A). =
O
8
31.  SATRRRR T R et ST <At SiTelt & o7 T - ﬁ
(A) IS TRTL ST Shefesl T T 50 & SR Bt &
(B) #hIE I SIIU T Seeior ST § &

(C) 7§ =R ForT S sTRehe 3 ETeorfie oo aheeT
(D) fereft afs =t formm wyepemt 3 e & o s 2

The writ of Quo Warranto is issued when :

(A) A government refuses to perform its duties

(B) A law violates the Constitution

(C) A person holds a public office without legal authonty
(D) A personis detamed without trial

03-FA-25/1 (11-A)
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32.
L s S < 97 R R B T R |
o~ :
I 3 SR T e i s Fores o Wi el €
0L wwﬁﬁmmﬁﬁaﬁgﬁaﬁﬁm%ﬁww o |
*L
Iv. 92010 A UEg SR
fereReT : C] '
&) Fa L uatn  (8) I USRIV © 3L MRy (D) FA IR
Which of the following statements about the Indian Rupee symbol are correct ?
1.  The symbol integrates Devanagari “T’ and Roman “R”.
II. The two horizontal lines represent the national flag and “equal to” sign.
. Itwas selectad without any public competition.
V. Itwas adop% before 2010.
"Options : e
(A) Only L II an&.i%ll (B) Only I and IV, (C) Only I, Ill and IV (D) OnlyIand I
{ .
. o N L .
33, e UTET Y T B el Semast-ament g e, Syfe e A 3o (CETETRATE) Y& it T Slreor <
27 | |
(A) AT B TR (TETTTS)
(B) IREIeT TS e HeF (TR
(C) wITeer SAeifires e (Y |
(D) & A ARG T
Which organization has announced the launch of India’s first franchise-based shooting league, the Shooting
League of India (SLI) ? '
(A) Sports Autho/n'ty of India (SAT)
(B) National Riﬂ_;g{Associaﬁon of India (NRAD)
(C) Tndian Olympfs Association (I0A)
(D) Ministry of \((ic;juth Affairs and Sports
254
34, Rreafar, @W@WW%@W, frarc T former T TS EI TenTfue foheT TR ot 2
(A) A (B) Tt feeftar (C) TR (D) gdu
Vikramashila, a significant medieval Buddhist university, was founded in Bihar by which Pala emperor 7
(A) Devapala (B) Gopalall (C) Narayanapala (D) Dharmapala
35, s Taeh AR e o st SrehiSe B ST shUsh T oI S ST T o 2
(A) 1912 (B) 1905 (C) 1935 (D) 1947
In which year was Bihar first separated from the Bengal Presidency to be created as a distinct province ?
(A) 1912 (B) 1905 (C) 1935 (D) 1947
03-FA-25/1 ' (12-A)



36, SRS ST TR B wer soneh, Rres awe Rl wes! ot T wrer S w8, forer sy T
Hyefras ?
(A) STTEE : (B) THIETg
(C) snfemm (D) TS
- The traditional mixed cropping system known as ‘Baranaja,’ which involves the cultivation of twelve
different crops together, is practised in which Indian state ?

(A) Uttarakhand (B) Tamil Nadu
(C) Odisha (D) Rajasthan

37. Ul F R fefiRae T8 SH-aT R T § 2

. o )

(A) TS YT T e B UehHT T SR B | 35
(B) SIS 5 a1 ohl Ueh FRe rafer o g fopar ST 811 3
(C) wush Wity frarirere e g1 8 | v
(D) eehl TRAAT SR S Uy foremwser g T g i frgsa g1 36
Which of the following statements is incorrect for Gram Sabha ? g
(A) Itis the only permanent unit in Panchayati Raj system.
(B) Itis constituted for a particular period of 5 years.
(C) The representatives are not elected. ~
(D) Its powers and functions are fixed by state legislature by law.

38. frfoifed & @ sl vt deiter soaen 6 fafie oo 72 2 2 o
(A) G ST F s el wiReaT s e %
(B) T =IRTIoTehl O
(C) =y mTiewar N
(D) fererr <l Fefteerar % % |
Which of the following is net a characteristic feature of the Indian federal systeg; ?
(A) Division of legislative powers between Union and States
(B) Independent judiciary
(C) Dual citizenship
(D) Supremacy of the Constitution

39. i fsd ook (RBI) ¥ 210+ wifses i wfify (MPC) ook 3 SR o7dier 2025 § §9r W ¢ Fraffw < 2
(A) 450% (B) 5:00% 0
() 6:00% (D) 7:25% fg‘
What repo rate did the Reserve Bank of India (RBI) set in April 2025 during its Mgnetary Policy Committee
(MPC) meeting ? ' '
(A) 4-50% B) 5-00%
(©) 6:00% D) 7-25%

03-FA-25/1 - (13-A)




40.

41,

42,

43.

R e o R IR

FUTI : %mwwwnﬂmﬁmm (WAVES) 1 ¥ 47, 2025 T SN feRaT TR 9T
o I 7 ST E Rt 35 Tl HEH T et H g |

s o 8 A 7

(A) T T SR I8 T & |

(B) Fo [T &, Ry Fo LT R | Be

© o I SR AR @RI g |

D) T m*él@, g A nieas |

Consider the foljowing statements : :

Statement I : g World Audio-Visual & Entertainment Summit (W, AVES) was held from 1 to 4 May, 2025.
Statement II : Jjhe event took place at the Bharat Mandapam Convention Centre in New Delhi.
Which of the ajpve statements is/are correct ?

(A) Both Stat@lent I and Statement I incorrect.

(B) StatementI is incorrect, but Statement II is correct.

(C) Both Statement I and Statement II correct.
(D) Statement I is correct, but Statement II is incorrect.

A
.'3‘:1"

T S ST 3 Sfver T e e R 36 e 1966 7 # i R
(A) G T T (B) ! @HEid
(C) wETeRTET Hﬁg . (D) ST ST qwEid
The 3% was amended in 1966 for a major river project between India and Nepal.
hY
(A) Joint RivérPact (B) Kosi Agreement
(C) Mahakali _t:—ieaty (D) Water Sharing Accord
Wﬁﬁ@qm@mﬁr—wﬁdﬁﬁ%wﬁmé}? w5

(A) AT TTELBTT SR ST

(®B) e T e i wew R A e

(C) Trser miteft it o S AT AT

(D) R itet i o R e

Who among the following were the chief architects of modern India-Bhutan relations ?
(A) Mahatma Gandhi and Ugyen Wangchuck

(B) PanditJ a\?géfharl'al Nehru and His Majesty Jigme Dorji Wangchuck

(C) Rajiv Gan@hi and Jigme Khesar Namgyel Wangchuck

(D) Indira Ga@i and Jigme Singye Wangchuck

: Rixd
fyereTeT 2025 s et o1 Raaer forer St 2

(A) St e - (B) e Stishifere!
(C) ST Aegaea (D) T ATHIIS
Who won the men’s singles title at Wimbledon 2025 ? '

(A) Jannik Sinner (B) Novak Djokovic
(C) Daniil Medvedev (D) Carlos Alcaraz

03-FA-25/1 (14 —-A)
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45.

46.

47.

(A) 1923 (B) 1927 (C) 1932 (D) 1930
In which year did Dr. Ambedkar initiate the Temple Entry Movement at Kalaram Temple in Nashik ?
(A) 1923 (B) 1927 (©) 1932(::) (D) 1930
qmma%%ﬁaaﬁﬁﬁamm@%wmﬁ&rﬁweéaﬁ%

{aldod
(A) 12 1TH, 1930 (B) wﬁq, 1930
(C) 1318, 1930 : )2141%;‘1930
On which date did the historic Dandi March led by Mahatma G#hdhi commence ?
(A) March 12, 1930 (B) April 6, 1930
(C) April 1, 1930 (D) March 2, 1930

oIy SquvT o Haie o feferiad st o fomm hifem
L Hioehe uere (PM2.5) Shel & TTeUrs aoh a3 o gohd %Bﬁwqw wﬁ‘rmaﬁraﬂm%l
I e ANISTETEE T e, W‘aﬁ?ﬁﬁ%ﬁﬁﬁ‘eﬁmww@ STET T S o SR |

ML O STE RS T SAE] ﬁ%@ﬁﬁwﬁa@‘iﬁ?l

ITIH el H | HI-E1/E T 3 2 g
(A) Fa I (B) %ﬁﬁ@;}zﬂt II
(C) I, LRI (D) FeekP

Consider the folloWing statements regarding air pollution :
I.  Particulate matter (PM2.5) can penetrate deep into the lungs and cause respiratory problems.

. Carbon monoxide is a colourless, odourless gas that reduces the oxygen-carrying capacity of

blood.
I Sulphur dioxide is primarily emitted from volcanic eruptions.
Which of the statements above is/are incorrect ? ?‘) g{%
(A) T only B) I andT only
(C) 1, 11 and III (D) I onlg:

8
1917 % SIRTT GEIBT, a‘rmnﬁrmwﬁma@rmm %m%&ﬁ%ﬁwwﬁm
T 9T 2
(A) Tl voreh (B) HETETS! oMt
(C) el yomedt (D) Tt et

Which system of cultivation was abolished following the Champaran Satyagraha of 1917, Mahatma
Gandhi’s first major Satyagraha in India ? .

(A) Tinkathia System (B) Mahalwari System

(C) Ryotwari System (D) Permanent Settlement

03-FA-25/1 %, (15-A)
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48. TR (4) : TR %ﬁﬁﬁﬁ?%ﬁ%ﬁrﬁlﬁmﬁﬁ%ﬁdﬁﬁ(ﬂﬂl@ﬁ%ﬂﬁ?ﬁmﬁ% L
T (R) : Tl S o e B, S R @T%Wﬁmﬁ,aﬁﬁzﬁtma@aﬁ%mﬁmﬁaﬁ
T .
forerea :

(A) W(A)@%,WW(R)W%I |

(B) MR (A) T (R) A1 BT &, TG T (R),H&W(A)ﬁﬁﬁw?lﬁm%l
©) SRR (A) TR, T ShRT (R) TR S | .

(D) SR (A) aﬁt;w (R)a:ﬁaa%aﬂtwm),ammm)a‘%@ww%l
Assertion (4) : Terti_arﬁj sector includes only activities that directly help in producing goods.

Reason (R) : Some séﬁvices in the tertiary sector do not directly support goods production, like teaching and
medical services.

Options : : . g,;

(A) Assertion (A) is true, but Reason (R) is false. : i

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the correct explanation of the
Assertion (A). :

(C) Assertion (A) is false, but Reason (R) is true.

(D) Both AssertionzfA) and Reason (R) are true and Reason (R) is the correct explanation of the
Assertion (A). ()

Cl
49, TG 35 TISUSE SR HiemTT 95% fRre Fr H & | foram  o1Eree o1 T ged: FEreare ?
(A) e o] (B) WFTETR
(C) 'R (D) 7T
Bihar accounts for approximately 95% of India’s pyrite reserves. Where is pyrite predominanﬂy mined in
Bihar ? '
(A) Rohtas (B) Bhagalpur gg‘
(C) Munger (D) Nawada "
=

50. ﬁ-mﬁwm@ﬁ%mmﬁnhﬁwmﬁﬁxﬁwm%? -
@) Wwﬁmﬁg}mﬁmﬁwﬁaﬁmﬁﬁammmﬁﬁqﬁaﬁﬁﬁw%l
(B) G :W%WWWWWWM%I

D

© mmﬁﬁma@aﬁaﬁmﬁ%aﬂz@moﬁmaﬁmwm%n
(D) G % THRT H Hileh & 3T W TS TRATO] TSRS ST § FE S | :

Which option explains the correct mechanism of ozone formation at higher altitudes ?
(A) Carbon dioxide absorbs UV rays and converts into ozone molecules.

(B) Chlorofiuorocarbons react with oxygen to generate ozone gas.

(C) UV rays break oxygen molecules and free atoms combine with O, to form ozone.
(D) Oxygen atoms join nitrogen molecules when exposed to sunlight.

03-FA-2511 . (16-A)



51.

52.

53.

e it e e 3 fir forft oBy <oh Raftredt 3 ol o u-afamt o Sk o & & ot fogm
27

(A) st (B) ¥ - © =@ (D) SRR |
Which script is described as the “parent of several families and sub-families of scripts” in India and

South-east Asia ? : .
(A) Brahmi - (B) Grantha (C) Kharosthi (D) Devanagari

T 35 TSR ETT 2016 3 ST T T e Rt ¢ s fve wenten sfernd g forelt e of 2
(A) TiEwE BIfHE SR, ST

N

I (B) s s, T
(C) . Fherr T, SUTSgafar & (D) <. we g, werrmat

The book titled ‘Citizen and Society’, released:;;ié 2016 by the President of India, was authored by which
constitutional authority ? :

J
(A) Mohammad Hamid Ansari, Vice Presidentss  (B) Pranab Mukherjee, President

H

(C) M. Venkaiah Naidu, Vice President (D) Dr. Manmohan Singh, Prime Minister
' hICTH A IcTH B
(TGl (JETH/FLE)
a. S e i IeESRE
b. TR i, 77T s
d TR we iv. E@@’:ﬁ'c@év?
(A) a-, b-ii, c-iii, d-iv (B) a-i, b-iv, c-ii, d-iii
(©) a-ii, b-iv, c-i, d-iii _ (D) a-iii, b-i, c-iv, d-ii
Match the following :
Column A Column B 32
(Author/Poet) " (Book/Poem){_)
a. John Milton i, Paradise Losk.)
b. Sarojini Naidu ii. The Golden Tzi}geshold o
c. Homer i, Thelliad ] =
d. Robert Frost iv. The Road Noﬁ}’aken |
Codes : '
(A) a-i, b-ii, c-iii, d-iv (B) a-i, b-iv, c-ii, d-iii
(C) a-ii, b-iv, c-i, d-iii : ~ (D) a-iii, b-i, c-iv, d-ii

it e
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54.

55.

56.

57.

58.

: Wwﬁmu&ﬁﬁmmﬁé@%@w%?

(A) FresiieT

®) g o

(C) Ty frrirsH

(D) HeTeRTT

What process does the Panchayati Raj Ministry oversee in States ?

A) Decentralisation
(B) Capacity building
(C) Urban planning
(D) Centralisation

TR mmwﬁm%@aﬁﬁmwﬁm sm v

(A) steFTT (®B) W)

(C) Ut o) ?lFI?J

In which of the following cities did Mahavira hold his second; Eamavasarana ?
(A) Bodh Gaya ®) Patn

(C) Pava (D) Naianda

T ¥ WGk fershTer hidish el aﬁtmmmmw ?

(A) T 1950; TRER T

(B) A 1954; A TSI

(C) Sl 1955; T SRTEL

(D) ST 1952; SR 66 o

When and by whom was the Community Development Progfamme launched in India ?
(A) March 1950; Sardar Patel ‘)

(B) April 1954; Bhimrao Ambedkar i)

(C) January 1955; Lal Bahadur Shastri e %

(D) October 1952; Jawaharlal Nehru %

1993 T 733 ofiT 74 W & (G, w%mwﬁwﬂamwa‘%v

(A) 3ref-gefer @ : ) REESRERIRKICE]

(C) -ty weffar G (D) TEHICHS e 1 T
Following the 73rd and 74th Amendments in 1993, India introduced which type of federal structure ?
(A) Quasi-federal structure (B) Three-tier federal structure
(C) Two-tier federal structure (D) Unitary federal structure
TR T AT R feeh G i e S 2 5

(A) STEATRAE e : (B) a:ar

(C) Jqfes rgEe (D) w@?ﬁqﬁam

What is the Shanti Swarup Bhatnagar Prize given in recogn1t1on of ?

(A) Spiritual leadership B) M111tary courage

(C) Scientific research D) Con emporary painting

03-FA-25/1 (18—A)



59.

60.

61.

62.

63.

SRS o T Ui e (Ger g oher i fober w2 o 7

(A) 16 T, 2010 : (B) 1631, 2011
(C) 11 5T, 2011 (D) 11 SHeRT, 2010

When was the Jawaharlal Nehru National Solar Mission (Solar India) launched ? .
(A) 16 June, 2010 (B) 16 June, 2011 %
(C) 11 January, 2011 (D) 11 January, 2010

wmaﬁwm%wmmﬁaﬁwwwqaw@ﬁaﬁ?aﬁwﬁ%m 2024?5”4‘}&1@%
:ﬁéaw%@rﬁmwv

(A) T et it U werggier (B) ToH TR 3P G Sfifd

(C) hTT HTIEhT IR EiT (D) SiF . uhles aﬂté}@%ﬁ

Who were awarded the 2024 Nobel Prize in Physics “for foundational discoverie§ and inventions that enable

machine learning with artificial neural networks” ? e

(A) Pierre Agostini and Anne L Huillier (B) Alain Aspect and Ant@n Zeilinger

(C) Katalin Karikd and Drew Weissman (D) John J. Hopfield and ‘Geoffrey Hinton
:3

Te5e-3 o 3 fore e sréyoor =it =it S foparr R o 9 e

(A) PSLV-C25 (B) LVM3-M4

(C) LVM3-X1 (D) GSLV MKk II

Which launch vehicle was used for the Chandrayaan-3 mission ?

(A) PSLV-C25 (B) LVM3-M4 _

(C) LVM3-X1 (D) GSLVMKIO - ° EEE
& ]
()

1976 H, TS o ST STEhT STETLIRUT T 3 T TR0 Wwﬁmwﬁﬁﬁww o7 ?

(A) STt STETEE ATt (B) HISH q@Ts f’i"

(C) it ﬁrf{ (D) FAREH HATST ]

In 1976, who was honoured with the Bharat Ratna posthumously for theirli"ne’xcepﬁonal service to the
nation ?

(A) Lal Bahadur Shastri (B) Morarji Desai
(C) V.V. Giri . (D) Kumaraswamy Kamaraj

21 5[, 2025 =T 119 SRl =T fae 5 foac Jeit = w7 ferm o 2

52
(A) 210 (B) 150 (0
(©) 175 (D) 191 ('J
How many countries participated in the 11th International Day of Yoga on 21 I&pe 20257
(A) 210 (B) 150
(C) 175 (D) 191 ;;;]
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64.

65.

66.

67.

CHE aﬁsﬁrﬁ%mwﬁﬁmw%?

() Fe EHRRT (B) R
(C) st Tfer (D) SR TR

What is the official state bird of Bihar ? ‘

(A) Great Hornbill ' (B) House Crow

(C) Indian Robin (D) House Sparrow

. L3 .
T 6T T T ar{r?fgaﬁav 03 ST, 2024 1 e iR e 3 St H TR T ?
(A) ¥R %%ﬁm@ﬁ%@wq@w
(B) TR 7 S A R
(C) SFATI-3 T < GeE ST

(D) wﬁﬁ@mﬁéﬁw%wﬁw

India’s first-ever National Space Day was celebrated on 23 August, 2024 to commemorate which historic
achievement ? '

(A) Launch of India’s first satellite, Aryabhata

(B) Successful test of the Gaganyaan crew module

(C) Successful landing of Chandrayaan-3 on the Moon
(D) Establishment of ISRO as a space agency

A 02
o™

O |
ol 2025 ﬁwmﬁtﬁaﬁm%wwﬁr%wmﬁr@wﬁmaﬁﬁ-mﬁ?
@) St el LA
() TS TR R e
(C) Sh7 reR aiTH ¢?
D) frerrer R we 3 forg et

Which summit did Prime Minister Modi co-chair with the President of France in February 2025 ?
(A) Climate Action Summit
(B) AI Action Summit

(C) G7 Summit .
(D) Technology for Ievelopment Summit
C
<
14, 2025 Wﬁzég@am%mﬁmﬁwmm ?
(A) :Irqﬂﬁwﬁ'érw‘ ®) = ot 3l AT
©) wﬁ@"raﬁaﬁg (D) FEIR ST T T
Who assumed office as the 52nd Chief Justice of India on 14 May, 20257
(A) Justice Sanjiv Khanna (B) Justice B.V. Nagarathna
(C) Justice D.Y. Chandrachud (D) Justice Bhushan Ramkrishna Gavai
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68. FrefRea ¥ & shi-ar geelt <At uedl o Tl ofier & e el s W S W SR 2

(A) FeeT — 3hIE — U (B) shig —> Hewt — sddy
(C) yuddt — Hed — i : (D) TueHes — WS — IS |
Which of the following correctly represents the sequence of Earth’s layers froptinnermost to outermost ?
(A) Mantle — Core — Crust (B) Core — Mantle —>’!Crust
(C) Crust — Mantle — Core (D) Lithosphere — Astlig?aosphere —> Core
B >
69. Tfetiea # & -4 faeie: 8 P Haum § 2 s
(A) TR Rt " (®) &
(C) fafvmtor (D) G AR
Which of the following is a secondary sector occupation ? ‘
(A) Social work ’ (B) Farming
(C) Manufacturing (D) Retail trade g

(1}

, <) .
70. R 3 o0 WiBeR So Rt 2021 # IER! 1 Aea o o wiesten e i R e § sy

™9 : I
(&) T ®) T Y
(C) gt gsT (D) Twefie

Which cultural festival from India was added to UNESCO’s Representative List of the Intangible Cultural
Heritage of Humanity in 2021 ?

(A) Garba (B) Chhau
(C) Durga Puja - (D) Ramlila

A

ol
S
)

71. T fetfiee 3 wanfiea 31t Semer ot 24 fortelert % & we, dear- v wer S, e v usa & Rew

g7 Az
: . N -
(A) ST HaTT (B) SWES o
(C) R D) fereret R v
The Teesta-V Power Station, one of the 24 power stations owned and operated by NHPC Ltd., is located in
which Indian state ? _
(A) Arunachal Pradesh (B) Uttarakhand
(C) Sikkim (D) Himachal Pradesh
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(D) e wmﬂﬁhﬁaﬁ#
The Twelfth Five—ggéar Plan (2012 —17) is subtitled as which of the following ?
(A) Inclusive Balarice and Equitable Growth
(B) Faster, More Iglusive and Sustainable Growth
(C) Sustainable Development with Equity for All -
(D) Rapid and Broad-based Economic Transformation %ﬁ
. &
73 REREEE R T TS d e

(&) ¥ . @®) &

ox WEL

Bihar shares its bojﬁer with how many Indian states 7

(A) Five (] (B) Three

(C) Two . (D) Four
3

74, WA maﬁ%wm@m@m%%mmmm%ﬁq—mwm
SRR fehert Tt sggﬂtmﬁ el g 39 g feaT T T ?
(A) T TS THTER
(B) forew Ve TS
(C) Torew &t STt <kt ST EEIIERGEIES)
(D) WA Tt TTT (T THIEH TISIE)
Which bilingual weekly was published by the Congress from Patna to promote patriotic sentiment during
the Civil Disobedigfice Movement and was later suppressed by the British ? : :
(A) Bihar Satyagriaﬁa Samachar C m
(B) Bihar National Herald
(C) Bihar People’$V oice
(D) Patna Freedoﬁgfﬁ?Gazette

75, 28 TS, 1940 e i SARRTA GeIIE R W A, R o el e et 3 for o sty 1
Tt fomam 2
(A) STE AT T ®) Mg e
(C) <. TEXTEE (D) RIS TR0
Who began an Individual Satyagraha in Patna on 28 November, 1940, marking Bihar’s participation in anti-
war civil resistance 7 .

(A) Anugrah Narayan Sinha ~(B) Shri Krishna Sinha
(C) Dr. Rajendra Prasad ‘ : (D) Jayaprakash Narayan
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;
 EE (@) AT o ud TiuTa/Section (B) General Science & Mathematics

76. K,Cr,0, ¥ Cr & Ao 4@ s ;

(A) +7 (B) +2 L (©) 46 D) +3
The oxidation number of Cr in K,Cr,0, is :
(A) +7 : B) +2 (C) +6 (D) +3
77, 3 SO S G SR T WIS S S WO o eI ST S-S T €, STIEEIH
SIEISIGIEE ,
-
(A) R | =o 52
(B) G O
(QREIEET) O
(D) AIET %
Molecules that share the same molecular formula but have different structural a@ngements of atoms are
known as : . v v
(A) Ions '

(B) Isotopes
(C) Isomers
(D) Allotropes

. PR & et e s e i &

ro

(A) T (Cu) | - (B) TR (K) N =

(©) e (Fe) | (D) BT (Au) O = :

Which of the following metals is the most reactive ? C]

(A) Copper (Cu) (B) Potassium (K) g k

(C) Iron (Fe) (D) Gold (Au) QO -
79. SIS 3% R o ITER, aﬁm%ﬁqmwmt@%%aﬁrm STRICH ShEER &, TV aTel UK T ST

TEATR ? .

(A) T|eGas | - (B) T HATE |

(C) TE TN TR | (D) ¥ Te g & AR TR e |

According to Boyle’s law, if you keep the temperature of a gas constant and decrease its volume, what

happens to the pressure ? R

(A) It increases. . (B) It decreases. O

(C) It stays the same. (D) It increases first and the@ecreases
80. St arfifspan ﬁmmwa@wﬁﬁww% - i

(A) @ _ (B) U= a

(C) Saweh (D) Sffereliepat @

In a redox reaction, the substance that gdins electrons is said to have been :

(A) Catalyzed (B) Reduced

(C) Neutralized (D) Oxidized
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81. Wﬁmwmmﬁmﬁmw o ?
C(A) SiSks A
(B) HEH-ST-ER
(C) TG Sht ' Erz
(D) TEFE I -
The Human Development Index was developed by :
(A) Alfred Marshall
(B) Mahbub-ul-Haq

(C) Javed Burki
)] Mohammad Yunus

82. qﬁ%%wagﬁaww%ww%wmwﬁ?ﬁ% ?
(A) R (B) TEIHR :‘E’E?%&%
(C) ST & : (D) 1Y TTET
What is the point inside the Earth where energy is released during an earthquake called ?
(A) Epicenter (B) Hypocenter |
(C) Seismic zone : (D) Fault line

sO##OO%

\?
83. TaE W AT YU +fY T 6 ST aﬁtaﬁ%aﬁmﬁa’gﬁﬁ#w%mﬂ% ?

(A) ST =g (B) T =g O
(C) FrEw g (D) ST o
The rocks formed by the cooling and solidiﬁcauon of lava, either on thefsurface or within the crust, are
called : {ﬁ
(A) Igneous rocks (B) Metamorphic rocks
(C) Sedimentary rocks (D) Fossiliferous rocks
84. Wmmaﬁéﬁ@ﬁ@aﬁ@%mmaﬁwﬁﬁ%mﬁ@ﬁwﬁwnﬁwm%v
(A) TR T (B) diwi@aT
(C) el am (D) §h-9aT ST o\°

What is the minimum speed called that an object must have to b1eak free from the gravitational pull of a
celestial body like a planet or star ?

(A) Escape velocity : ' (B) Terminal velocity:ﬁ:

(C) Orbital velocity (D) Free-fall velocity O
85, TESTT 3 oy SR SR A D ¢

(A) T e (B) I forere

(C) g SeafEr | (D) e o

Presence of homologous organs indicates :

(A) Divergent evolution (B) Genetic drift

(C) Random mutation _ (D) Convergent evolution
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86, TRuTerl Tice 3 wery i IreTa I T e hie :
(A) e — iz i o 36 e & e A el @
(B) Tt — Femreret i Sea St 8, R o e v e §
(C) e — 0w & oot 8, R A AR SR @ | g%%
(D) T — ATERER 3 e T arer & eperd &

Identify the incorrect pair regarding the Himalayan river systems :

(A) Chenab — Formed by Chandra and Bhaga at Tandi o2
(B) Ravi - Originates in Himachal, joins Ganga near Devprayag O
(C) Thelum — Originates at-Verinag, flows through Wular Lake O
(D) Satluj — Originates from Raksas Tal near Mansarovar e
87. SO m ST v AT oreg 1 TS Soofl 1 G G Y 2 | o
V2 2 i 1 2
(4) K=mv B) K= — (C) K=mv D) K = - mv

What is the correct formula for the kinetic energy of an object with mass m and velocity v ?

2 2

, : 1
(A)K=mv ®) K = — (©) K=mv @) K = — mv’
m
| &
88, G ETT et ohy 7T o 3 FoT AT TR TReT SR -t forfRr Seerfi € 2 O
INEISE " (B) farfemtor C\ |
(C) et (D) HeIe ;g; 2
Which method of heat transfer is responsible for the Sun warming the Earth ? O
(A) Conduction (B) Radiation R
(C) Advection (D) Convection

89. e 3 argriger St e e F STsi T ¥ S o e s TSR s Siftrenter T St e

29 2
(A) duHSA Q
(B) GHAIHSS :,Gi
(C) s 3
(D) Teies g

Which layer of Earth’s atmosphere contains the ozone layer. that absorbs most of the Sun’s harmful
ultraviolet radiation ?

(A) Thermosphere
(B) Stratosphere
(C) Troposphere
(D) Mesosphere

03-FA-25/1 (25—A)
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90. a‘gﬁwﬁwﬁaw%ﬁﬂﬁm@mmﬁaﬁmﬁ,é@rw@(mﬁa@rmg@:w%?

(A) AT . (B) R B

(C) fargmor (D) fradt ™

What is the phenomenon where light bends as it passes from one medium to another, like from air to
water 7 ‘

(A) Refraction (B) Reflection

(C) Dispersion o (D) Diffraction

o1. Wa@ﬁaﬁgﬁéﬁmﬁmwﬁﬂvwﬁuﬁﬁwm%?

(&) T O ® @™ (©) e (D) ¥

The tendency of a@bj ect to resist a change in its state of motion is called :

(A) Friction § (B) Acceleration (C) Inertia (D) Momentum »
92. @@%WH@{@E@ st 3 T, et STTeishIe (T U e i Twe) Tei: T8 GRT el ST g :

(A) FIUH TR TS G (B) fiefisr (@fF) 0T

(C) g o (D) 54

For a simple pendulum swinging with a small amplitude, its period (the time for one complete oscillation)
is primarily determined by its :

(A) Both Mass and Length . ~ (B) Angle of release ]
(C) Length o | (D) Mass =5
. O |
93. éﬁsﬁrﬁm,aﬁﬁﬁ@}%@amﬁﬁwmaﬁm%ﬁwﬁ‘\@a%w%ﬁmww&w%:
(A) HaT e (B) S H (C) S=it (D) =TT

Lenz’s Law, Which]describes the direction of an induced electric current, is a direct cohsequence of the law
of conservation of‘v: :

- .
(A) Momentum (B) Mass ~ (C) Energy (D) Charge

04,  ToRTRT-TorErer SToTTer TRl ohY SHUT-EIGT SRRt ot SHITar ® | 7 Topeft wramed & SRRIT 6 el <R <{ui <ALl & St
IE T THRAT S :

(A) TH =T aﬁﬁ@w
(B) ﬁwﬁﬁﬁ%ﬂmﬁaﬁﬁww |

(C) TH oI Yorhg £

(D) T AN TT
The photoelectric %ect demonstrates the particle-like nature of light. It describes the emission of electrons
&3

from a material when it is struck by :

(A) Another charged particle

(B) High-frequency electromagnetic radiation
(C) A strong magnetic field

(D) A sound wave
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9s.

96.

97.

98.

99.

100.

SRR &, S % Fepfeaes w1 6 g R s 7 2

(A) TR :  (B) HFREY E%%

(C) Stersa O) ¥ B

In genetics, what is the term for an alternative form of a gene 7 7

(A) Chromosome B) Phenotypcle

(C) Genotype (D) Allele |

e T o S, T e R Ay aaE e " .
(&) B = ®) 7 (©) smwE | (D) &
In the human digestive system, the digestion of proteins begins in which organ ?

(A) Small Intestine (B) Liver (C) Stomach A (D) Mouth
TSR ShT 8 T STt 75T 3R Eer g w6 & forg fymdem ?

(&) STz (B) Age

(©) diw | | (D) SR

The part of the brain responsible for maintaining posture and balar}ge is the :

(A) Cerebellum (B) Medulla |

(C) Pons ()] Cerebruiii‘

hIE- 14 T STE-TR] T 5,730 TS 2 | wwwwﬂnwwﬁaﬁw&ﬁﬁ 31y eiia o <l derdlen
T foRaT ST § | 39 qehleR Sl T SFEd & 7

(A) eeichri Sfem - (B) ”ﬁ?{ﬁﬁ@?
(C) Tt | (D) SIS

The half-life of Carbon-14 is approximately 5,730 years. This property is used in a technique to determine
the age of ancient organic materials. What is this technique called ?

ElE

(A) Radiocarbon dating (B) Thermoluminescence

(C) Stratigraphy (D) Dendrochronology

SHtfvereh Siter form #, SITg Traie § STRTAT 10 h ouor shl Tishash! 50 &0 § ST ST e

(A) gldeiaT (B) Wk (C) ufer (D) IFLETE

In molecular biology, the process of synthesizing an RNA molecule! from a DNA template is known as :
(A) Transcription (B) Replication © Transfo&ilation (D) Translation

et TS ¥ SIS ot ST e S e 2 |

(A) ST wfdl e Stet 37 gt §T @RSt o1 afesT

(B) GRMEIT & A e T el AT TRaeT '

(C) TRIRT-E=FTuT o T SrehteT i STeTioor

(D) & et gt o et v

What is the primary function of the xylem in a vascular plant ?

(A) Transporting water and dissolved minerals from the roots to the leaves
(B) Transporting sugar from the leaves to the rest of the plant

(C) Absorbing light for photosynthesis
(D) Anchoring the plant in the soil
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@-&r SR GEIT ﬁtwﬁs W%Waﬁﬁ%mm%mwaﬂ%%lwm%a‘r 3fent o S Sl

101.
SRS ?
A9 ®) 3
© 5 (D) 4

The difference between a two- -digit number and the number obtain:
the two d1g1ts of that number ?

digits is 36. What is the difference between

(A) 9 <(Ji}) 3
©)5 P4
) s 6

102. fsfeh ohT TR s
120-[60+(3+2x6)] 2
(A) 116 (B) 12
(C) 20 (D) 108
Evaluate the expression :
120-[60+(3+2%6)]
(A) 116 (B) 12
(C) 20 «D) 108

103. A, B¥25% SR | B, AT TRRE S E?

(A) 13-33%

1) 2%

(C) 30% (D) 20%
A is 25% more than B. By what percent is B smaller than A ?

(A) 13-33% B) 22%
(C) 30% (D) 20%

ed by interchanging the positions of its

E' H

104. a‘rawaﬁ%aﬂawammz 11 %lwﬁﬂwﬁ%aﬁaaﬁrwsl T, S B T FI AR |

(A) 16 B) 12

©) 18 L(D) 10

The ratio between two numbers is 2 : 11. If the dlfference between the numbers is 81, find the smaller
number.

(A) 16 (B) 12

© 138 (D) 10

105. =f% 8 GETat S ATH 14 § S ITRT IR 10%, a‘rsqé’ra@nﬁwwwsrﬁraﬁﬁm

(A) 20 (B) 18
(C)24 (D) 22 A
If the sum of two numbers is 14 and their difference is 10, find the product of these two numbers.
(A) 20 (B) 18
© 24 (D) 22

03-FA-25/1 (28—-A)



106. PR & & P-o ger =+t off 3 sparTa R e o Sfiad 721 &) wehd! § 2

(A) S ®)17
© e D) 3
Which of the following can never be an average of 3 consecutive odd numbers ?
(A)5 ®B) 7
© 6 (D) 3

107. ¥ 80 3 y% T x%, 900 % 25% HTAN T, T xy HIAM S : o
(A) 34,200 :“i)
B) 32,500 E'{,]
(©) 30,100 B
(D) 28,125 “ii:
If x% of y% of 80 is same as 25% of 900, then the value of Xyis: ;::
(A) 34,200
(B) 32,500
(©) 30,100
(D) 28,125

108. T 71 ST SHFEEAT 25 ,000 ¥ | SRt feE few it € ofiv Sy gew ¥ | 5% T8 3 40% Afcard 1
& | T ST oAt feherT i R 2 2

L5

(A) 88% ?)
(B) 55% <
©) 75% T
(D) 85% b

The population of a village is 25,000. One fifth are females and the rest are males 5% of males and 40% of
females are uneducated. What percentage of the whole population is educated 3
(A) 88%
(B) 55%

(©) 75%

(D) 85%

109. 3 x 0-3 x 0-03 x 0-003 =?
(A) 0-81 :
(B) 0-00081
(C) 0-081
(D) 0-000081 ‘
3 x 03 x 0-03 x 0-003 =2
(A) 081
(B) 0-00081
(C) 0:081
(D) 0-000081

03-FA-25/1 (29-A)



110. T wRETCH 5 I8, 5 Tias A4 T | sgw"r-cﬁraﬂwa:rgmaé%l 5 AfeTet I ifa AY 39 TR
sqaﬂaﬁﬁﬁaﬂﬂﬂaﬂglsaﬁf%lwqivﬁﬁmﬁaﬁwaﬂgw%?
(A) 25 @) 3458
(C) 325 1 (D) 285 9%

A family consists of 5 men, 5 women and 4 children. The average age of the 5 men is 49 years. The average
age of the 5 women is 39 years. The average age of their 4 children is 15 years. What is the average age of

the entire family ?
(A) 25 years (B) 34-5 years
(C) 32-5 years (D) 28-5 years

111. T G- 10,000 ¥ TET TR | FEHIHLT L0v% 3 o7 1 ¢ & it < T | < o S R e
AR >

¢

4
]

(A) 8,100 s (B) 8,900

(C) T9,100 T (D) % 8,000

A sofa-set was bought fgf? 10,000. Its value depreciated at the rate of 10% per annum. Find its value after
two years. .

(A) £8,100 #o (B) €8,900

(C) 9,100 ' (D) ¥ 8,000

112. qaasqﬁﬁ%ryaﬁaa%q10%qﬁraémwwmxmwﬁ%mﬁmlaﬁzyarﬁ%maszrﬁrztx%,?ﬁyw
T T ST |

(A) 10 o
e ‘ (=8
®) 40
(C€) 15 < }1]
(D) 20 ey
A man invested X rupeéé’ffor y years at 10% simple interest per anmum. If the interest after 2y years is 4%,
find the value of y. %
(A) 10 #
(B) 40
©) 15
(D) 20
0-6 715 3
113, (0:00243)"° +(0:0256) TR
(A) 0-083 '?,;} (B) 0:073
i
(C) 0-091 et (D) 0-081
0‘2”6l 075
The value of (0-00243) Ef+ (0-0256) is:
(A) 0-083 "‘} (B) 0-073
(C) 0-091 p (D) 0-081

03-FA-25/1 (30-A)



114, FefiRea T Q-G wer a2

115.

116.

L R o EE 40 © SGR 60 B ST , A SRR afe 50% Bt |

o 0-5%,1/2 F SR T |
ML Fe ST T 25% a0 & g, S8 4 3 ferera =t |

42

(A) a1 SR | vy

(B) it IT 3R I | - ey .

(C) T IR ' H: ' , gg%

(D) 1, I 3R I . I
&y

Which of the following statements are correct ?

I Ifa number increases from 40 to 60, the percentage increase is 50%.
IO 0-5%is equal to 1/2. _
III.  To find 25% of a number, divide it by 4.

Options :
(A) Only I and III {
(B) Only IT and III ‘ -
(C) OnlyIandIl 1
(D) I, 11 and III fi

8 < 3 e 3 e 30 R R e T S B | 5 R 7 3, 7 i 20 R
T B TR | IRERH fefe e e g, A8 AT §Y foh ST S = ST W H IS @ 2

(A) 3 ®) 2

©) 4 D) 1

A family of 8 people has enough stock of rice to last for 30 days. Due to the arrival of some relatives, this
food was consumed in 20 days. How many guests joined the family, assumirig each person consumes the

same amount ?° <
A3 (B)2 .
© 4 | /D1 o
4
Ft
50 SR ohT G ShTere T SoheR o WY Firient TRl a1 5 i) H T SREaT ] | 125 SaiRmall R S0 i
feper wrAT o o fora ST @R 2 2
(A) 2 ®) 4
€) 8 ' (D) 6

A workforce of 50 men with a contractor an finish a piece of work in 5 months. In how many months can
the same work be completed by 125 men ?

A2 B) 4

(GRS D)6

03-FA-25/1 C (31-A)




117. ﬁﬁ%{%ﬁﬁﬁaﬁwﬁw&ﬁamma@%?

-5 29 9 —11
GV ®) "4 © T1a ®) g~
Which of the following rational numbers 13(th greatest ? n

=5 29 ! 9 —11
— — i Q) — D) ——
@) 7 ®) —42 H: © = 14 28

118. ﬁquﬁ,mmﬁaw%msﬁﬁ (R)mrwﬁmw%laﬁrﬁwirﬁm

T (4) : GG 5 -+ /2 R SR U ¥ |

SHRUT (R) : Tk TR e aﬂt@mﬁﬁammwmwmﬁﬁaﬁwﬁ% l

(A) SR (A) T &, T HT ®R) T T

(B) IR (A) HITHRT (R) A T ¥ o T (R), FAMH (A) o AT TS |

(C) SRIH (A) T &, TG FT (R) TS |

(D) SRR (A) ST HRT (R) S wet €, T BT (R) SRR (A) B AT ST TE hE T |

In the given question, a statement of Assefﬁ%n (A) is followed by a statement of Reason (R). Choose the

correct option. “7:; -;3

Assertion (4) : The number 5 + ﬁ isan A gxtional number.

Reason (R) : The sum of a rational number;q‘é}zi‘éd an irrational number is always an irrational number.

(A) Assertion (A) is false, but Reason (R) is frue.

(B) Both Assertion (A) and Reason (R}, are true and Reason (R) is the correct explanation of
Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D). Both Assertion (A) and Reason (R) are true, but Reason (R) is not the correct explanation of Assertion
(A).

119, s oS R SRS ST SHTreT ohY A IS S 8 e S 8 St ?

[

1 iy 1 i
(A) 12—2— % (B) 14% v © 15—5: % (D) 16%
€]
At the rate percent per annum simple interestwill a sum be double itself in 8 years 7.
o
1 T 1
(A) 123 % (B) 14% HE © 15—2- % (D) 16%
- N
53

120. %ma‘?ﬂsr\%rz“rcﬁﬁat@rﬁﬁsﬁ@ﬁa?ﬁ%lﬁﬁﬂﬁzsqﬁﬁrﬁﬁmﬁrfﬁﬁ@ﬂﬁ%lﬁ»—{,ags:%@
awﬁﬁaﬁ%aﬁrﬂsrﬁrfrﬁméaﬁ%l@wmmgﬁﬁvﬁ?wﬁ,ﬁﬁﬁﬁqﬁwmm%’rﬁ
Ui :

(A) T : 100/9% (B) €™ : 100/9% (C) &I : 9/100% (D) & : 9/100%
Himakshi buys toffees at a price of ¥ 4 cach. She again buys the same amount of toffees at € 5 each. Then,

she mixes them in a basket and sells them at T 4 each. What will she get profit or loss ? Also, how much
percentage profit or loss will she get ? '

(A) Loss : 100/9% (B) Profit : 100/9% (C) Loss: 9/100% (D) Profit : 9/100%

03-FA-25/1 (32-A) -



121. aﬁXaﬁIY 1 % il o TRl d@aTE 8, AT Y, X@ra@f’r% @ F=fafeg O O - de g 5t
T S ST R ? _
: X
(A) X+Y (B) XY © 5 D) XY +1) |

IfX and Y are natural numbers other than 1, and Y is greater than X, which of th¢ following represents the
largest number ?

(A) X+Y (B) XY : © % D) XY ;’1)
&=
122, AT G 0.1222... T TAGE DT R 2 ‘C)
(A) 12/99 ‘ - (”1
(B) 11/90 o by
©) 118 ' ()
®) 2/15 o
What is the fraction equivalent of the repeating decimal 0.1222... ?
(A) 12/99
(B) 11/90
C) 1/8
D) 2/15

123. S HION STe B! T STRHH TaTS T A1 Tt 3TN 48 wiex, 72 Hiex, 96 Hiex 3itial20 et &t dems
Y ek & W 3 e R ST EAT R | C

(A) 20 HeX  (B) 24X C]

(C) 16 HIX (D) 12 "X 4;;

Find the h1ghest length of a measuring stick which can be used to measure exactly thé lengths 48 m,
72 m, 96 m and 120 m. o

(A)20m (B) 24m

(©) 16m D) 12m

124. T =RF F U 25 ek wle) F R v g, %Hﬁﬁmﬁmf 500 ¥ | 9fe ek wgfrer i i
T 125 <1feres 2, al I8 fepart wsfenet @rlie wr@ 2 @

(A) 35 (B) 30 . (©) 20 D) 25 {’)
A person has money to buy 25 cycles worth ¥ 500 each. How many cycles will he be abfé|to buy if each

cycle is costing ¥ 125 more ? th
(A) 35 ®) 30 (C) 20 D) 25 "éi
125. =% fovelt S ot ST Fr ST @R R it 5 SiveT e, ArafonT 21 ST | e dem e 2
(A) 16 ®) 10 ©) 8 D) 18
If a number is doubled and then 5 is added, the result is 21. What is the original number ?
(A) 16 ®) 10 © 8 (D) 18

03-FA-25/1 | (33-A)




EE (1) AR ererar witel/Section (C) Mental Ability Test

126. wH TR g AR R E

127.

K H B _ .
K H : :
NI ERRY p =
I o il
A 3 Forliq aaT R Y ? |
(A)H (B) B ©P Oy M
Three views of a cube are given below :
K H. B
%)
A |P 3 | p |
@)
I . oo
What is the letterygpposite to A?
(A) H H ®B) B’ - ©OFP D) M

Frfrfa e A R (4), (B), (€) 3 (D) 3 & v SR St oy e < G, 5
TSI AET AB % |1 @ TR

H’F&T@‘%:

ALLrrestritl B

@,Q %‘

®) & e % © | [ o | €

w 1

In the following question, choose the correct mirror image of the question figure from the answer figures
(A), (B), (C) and (D), when the mirror is placed along the line AB.

Question Figure : :

ALLLLLLIAL T

OO0 %

#

Answer Figuresik:
Fa

S

@) ye’ ® % © % o) %
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128. AR g T} 1 99 T S, 2 o7 oY R A 56t ot o1 oft stieht B, At ok 3 # g fomerft A arsiatt 2
(A) 78 ' (B) 156 (C) 200 (D32180
If a clock strikes once at 1 o’clock, twice at 2 o’clock and so on, how many times Will it strike in a day ?
(A) 78 , (B) 156 (C). 200 _ (D:;;EISO.
129. T AT I HIfC : s
J
8 12 14 &
6 | 54 |7 8 |51 |4 9 | 215
4 7 0
. [w]
(A) 68 @) 71 ©) 76 ONE
&
Find the missing number : '
| a
8 2| |4 =
- .
6 |54 |7 8 | 51 |4 9 | 215 B
4 ! 70 9
(4) 68 ®) 71 (©) 76 (D) 53 | y
130, T BT T2 9 8 1 § o6 3o v sor s 15 Tl 36 o1 e 19 A1l & vt g o, i Sueh e o 4
%%?ﬂéaﬁmamm17W%maﬁtzlméﬁq%ﬁ€wmaﬂtwﬁmﬁm%%mmﬁq =
16@%%@(20@%%@%%1@%%%@%%&%%%9 3 |
(&) 18 ®) 167 Q} : ‘\
© 179 D) 19 i .?%:

Mukesh 6lear1y remembers that his father was born after 15 March and before 19{March, while ius sister
remembers that their father was born after 17 March and before 21 March and their mother remembers that
his birthday falls after 16 March and before 20 March. On which day does the birthiiday of Mukesh s father

fall ? .
(A) 18 March ' (B) 16 March
(C) 17 March (D) 19 March
131, S & 6T W 37&R Y ohr ST 7t et d 2
(A) FATE (B) LIME
(C) BOND ' (D) ROPE
Which of these does rot follow the same letter pattern ?
(A) FATE _ (B) LIME
(C) BOND : ' (D) ROPE
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132. swﬁﬁﬁ%@a@ﬁaﬁwmﬁmaﬁf%I@wwﬁﬁa@ﬁmﬁam%,mﬁaﬁwmzaéaaakﬁ
3O WG, 6036?34‘1&3&@311@53‘(3&%5@@‘@%% | D 4 SRR o =8 e 1Y 39 LIS I)

: 3| xHIAEFE? _
@42 () - (B)30
©36 : (D) 48

A group é&f:S people has an average age of 40 years. A sixth person joins the group, increasing the average
age by 2 ?eats. After a while, two people, aged 60 years and x years, leave the group. The new average of
the remaifiing 4 people becomes 39 years. What is the value of x ?

(A) 42 ®) 30 _ g%%
(©) 36 (D) 48 il

1. mmm@@mwmmw@m%mwwmmwgﬁm

28 4 _9_16
) +, +52 ®) +, %, =
(C) = =y*;)‘ (D) -:_l = +

Choose thgssequence of correct mathematical operations to balance the given equation and £ill the blanks.
28 4 _ 916

(A) + +§§ | ®) +,+, =
(C)_’z’x (D)+,=,+

134, T SThel T S 12*&%1?@%%1%34%%3@61@@18ﬁ%ﬁmm%|aﬁéw—zﬁwmm
{%ﬁaﬁtﬁmﬁmﬁmﬂwaﬁ,?ﬁ{ﬁmﬁmﬁﬁﬁmﬂmaﬂm?
(A) 108 | (B) $ ¥
(C) 728 - (D) 168
Ram cangpaint a fence by himself in 12 hours. Shyam can paint the same fence by herself in 18 hours. If

they stals?z-‘%t the same time and work together without stopping, how long will it take them to paint the entire
fence ? o

(A) 10 %gms (B) 8 hours i

(C) 72 }gmrs (D) 16 hours e

135. ﬁ@aﬁtgmawuga@ﬂar&aﬂﬁm | G 3 T T 500 3 i UgET o6 TR T 240 9 | B 3 el W UgH
& Qe B et o | o S 3 T T e R T A A | A e B e R 2
(A) T440 (B) T60 .
(C) 120 (D) €220

Sonu and his friend Rahul went for shopping. Sonu had T 500 with him, while Rahul had ¥ 240. Sonu spent
twice as much as Rahul on shopping. Now, Sonu has three times as much money as is left with Rahul. How
much money did Sonu spend ?

(A) T440 ' (B) 60

(C) T120 | ' (D) €220

03-FA-25/1 ' (36—-A)



136. Fereterf s #, fog g fompedt F 9 e wet i ol v forg o S o v ST w8

137.

® (©) |
oQZ o OQZPO -
G e o

(4) 2 ®) 3 @ (D) 7
' ’ £
In the following question, select the number which can bg placed at the sign of question mark from the given
alternatives. It ‘
H
(6) (14) (6) .
A , ‘ f3
0 OJ® B @ (®)
o @ O
A) 2 ) © 9 D) 7
ST € SO A T ST 3 T 7 it | TRl HIeT i1 gt Wit B 2 S g o 3 o of R 3
P, Q,Raﬁxswwﬁﬁ%laﬁﬁeﬁawﬁs@mﬂaﬁw@am| o
I P,RAJRETAIT ?; o
IL Q, S & et el Wi e | e

. R, ST Hfet=re)
ﬁpmmm@a%,ﬁﬁm%f@aﬁ%ﬁq-mw%?

(A) R i wEerd | (B) =ieft et @t 2
©) S,RFT=@ere| (D) Q@ﬂ@ﬁ@ﬁﬂ;@@%l

e Bt

There are 7 stairs to go from ground floor to first floor. ‘F1rst stair is written as 1, second stair is written as 2 -

and so on according to same sequence. P, Q, R and S are four persons. Any two persons cannot be on the
same stair. -

I Pis two stairs below R. ;ﬁ
II. Qis on a stair next to S. J
III. R is two stairs below S. -
If P is standing at first stair, then which among the following is correct ?

(A) R s standing on the 4th stair. (B) Fourth stair is vacant.
(O) S is standing below R. (D) Q is standing on the 2nd stair.

03-FA-25/1 (37-A)
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138. A, B, C, DaﬂIE@aaqté%m%| C, D% A A F3T R, 3R D, Ea;m?é?éa%aﬂméa%m@ﬁwt

139.

140.

T C Al ad W WHRE B, AFaER| AR R IR ?
(A) E 3R D H &
(B) BaftCH
(C) CSREFH
(D) B3R D&

P

A, B, C, D and E are sitting on a bench. C is §itting next to D, and D is not sitting with E who is on the left
end of the bench. C is on the third position from the right. B is to the right of A. In which position A is
sitting ? e

(A) Between E and D ﬁ»

(B) Between B and C i o
i}

(C) Between Cand E | E&%

(D) Between B and D

i €11 sfter 7 weHaTe g (2) %quwnm ST TMHY 2

5,11, 23,47, 95,7 e
(A) 190 () (B)193
(C) 191 <;.J (D) 188

‘What value should come in place of the quesnon mark (?) in the series given below ?
5,11,23,47,95,2 "“”"j

(A) 190 o (B) 193
(©) 191 . " (D) 188

aﬁwaﬁwwm mﬁwmm,wﬁmwm,mﬁwwmaﬂxwﬁﬁ
T ST, T T O O B0 &7 i © 2

(A) SIeeT o
(B) THRT (’”}
(©) =1 . '
(D) Siet : i

34

23
If sky is called sea, sea is called water, Water*isfcalled air, air is called cloud and cloud is called river, then
what do we drink when thirsty ? s

(A) Cloud

(B) Sky

(C) Air

(D) Water

03-FA-25/1 (38-A)



141.

142.

143.

ﬁw%ﬁaamﬁ,%@raﬁraﬁmﬁwmﬁ@ﬁﬁaﬂw% | o e = Rt 8 @, o fesked AT 3w

S 3 i A ST e S e 37 3 ot T wefer ST | 8
ST fReaT ; s ; ; SRITIfhedT : ? O
(A) 3t g
(B) aI&h! By
© I (3
(D) et - @

In the following question, the first and second words have a certain relationship among themselves.. Out f)f
the four given alternatives, choose that alternative as your answer which creates a similar relationship
between the third and fourth word.

Pediatrics : Children : : Geriatrics : ?

(A) Women —_—
(B) Adults o BB
() Aged 2
(D) Men -

o
3t fomelt <2 AT H, CEGI %1 DHLP for@T STTaT €, 4 KSEA 1 foher rehrt ferg s 2
(A) LTGI (B) LUIH o
(C) LVIH (D) LSGF

If in a code language, CEGI is written as DHLP, then how is KSEA written ?

(A) LTGI (B) LUIH
(©) LVIH (D) LSGF a°
N
T ¥ e, “ier § 5T W argehl W T 3 gehciia 9 Sl Ut il Fhelidisel § 1 TS, o U TR JeR
(A) wefisft &
(B) s e
© & =
D)

Pratham said, “The girl in the photo is the only daughter of the wife of my father’s only son.”
How is the girl related to Pratham ?

(A) Niece
(B) Cousin
(C) Sister
(D) Daughter

03-FA-25/1 (39-A)




144, ToH B TH URE, AR A, A 103 T R KB, ST ¥ 98 TIM WE, AT T TG A 8, TA

145.

146.

TER 155 T T 8 | R fehe TSR & 7
(&) 27 s . ®28
() 23 &;:zf D) 31
In a row of boys, if A;;Who is 10th from the left and B who is 9th from the right, interchange their positions,
A became 15th from! f}le left. How many boys are there in the row ?

(A) 27 & ®B) 28 -
(C) 23 (D) 31
amﬁWwﬁ#mﬁ%lwﬁwmﬁw%ﬁﬁwwaﬁv@ﬁa@%?
5 ' 1
A) 36 (B) <
© — 3 o) —
18 ) 12

Two dice are throwh simultaneously. What is the probability that the first die is greater than the second
die ? F _

® 36 o ® 3
C ! > .
Oy @) - %3
Frefrfea sl e BT e 7

¥

Cl

REy

B

Cl

&5
(A) 12 (B) 14 , ©) 8 D) 15

How many triangles are there in'the following figure ?

(A) 12 ‘ ®B) 14 ©) 8 D) 15

03-FA-25/1 | (40-A)



147, Frdor: FrafrRe we &, & 7S oI St SRt & & T ST 1 = i, R et et o Tk T |

@ R e g g s |
T STTERIC ©
.2
9 -
. N )
\ ,'f =]
: i
< ik
IR STeHTET « . I

il o
o[§

:3: L

Directions : In the following question, select a ﬁgure from the given four answer figures, which When placed

in the blank space of the question figure Would complete the pattern.

Question Flgure :

&
2
=]

?
o
¢l
Answer Figures : et
o | L
@w 7| w B
©) : ®) |
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148.'%13@?%%1’@6@#@%%@?%@%%@%?%&

L ST TR e s SR |
1. B oo T R AT e |

1L, o EATdehTa] o Gt @ |

v, St el swraRiare |

3\
VIR

: /e (10
BN 1Y N

/6 N 4

R i @ ST R S ? 20

(A) Tt HTFeSE e ST S |

(B) F U3 FH diaf A 35 Grer-arer Sk 1 & |

(€) Teft oot wiireaer shelerrY ¥, AR SRR e © |

(D) it divearer e el € e

{

L
Consider the diagram and the follgwing statements and answer the question asked below :

I Rectangle represents softwaté:employees.

( t
_II. Triangle represents Rural pgjgfale.

III. Circle represents post-graduates.

IV. Square represents PO.

i

‘%‘_1

Which of the following statements is correct ?

(A) All softwaie employees are SSSt—graduates.

(B) Some software employees are PO along with being post-graduates.
(C) All PO are software employees, but not post-graduates.

(D) All software employees are PO.

03-FA-25/1 : (42-A)



149, o R TTC S 3 e o 37T Tk g A freere 1 ot I R e ¥ | ehert e et o form hiferg it ot

150.

SRIRTT i a8 Toroeme eheT ohT STEoT ShaT &/RTd € |
B :
« FS FAT SR T |
el S |
- I T ReH T R | . %%%

SOUH#EHOQO%

I %o Fiial a8 |
11, FS SoIet wiesh el = |
IEC e i

(A) e 11 STTET T &

(B) 8T 3T Y 1T STeror et &
(C) 17K I ST STTEor e &

(D) WIWW%

The question given below has three statements followed by two conclusmns I and II/Gonsider the statements
and the following conclusions and decide which of the conclusion(s) follow the stafement.

Statements :

* Some chairs are tables.
* All tables are wood.

* No wood is plastic.
Conclusions .

I. Some chairs are wood.
II. No table is plastic.
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Options %ﬁ
(A) Only 1I follows . ' [
(B) Neither I nor II follows
(C) BothIand II follow
(D) Only I follows
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(A) 25 foreft, 2fqor : (B) 25 ferelt, S7 @

(C) 65 Terrft, gféqor . (D) 65 Trrft, 3T -

- Two aeroplanes start from the same airport. A flies 20 km South. B flies 35 km East, then turns South and
- flies 45 km, then turns to its right and flies 35 km. Where is B with respect to A now ?

(A) 25 km, South - (B) 25 km, North
(C) 65 km, South ‘ (D) 65 km, North

03-FA-25/1 (43-A)



